Name:
CSC 103 HW 2
DUE Oct. 5, 2007
                 
SOLUTIONS

Name:

Part a: 
(Z - 3)
(X * (Z-3))
((X*(Z-3))+16)

 ... = W
00  LOD Z
02 SUB #3
04 MUL X

06 ADD #16   
08 STO W  
10 HLT
Part b

if (Y < 0)


Z = 1

else


Z = 2

00  CPL Y    If Y<0 then Acc=1, else Acc=0
02 JMZ 10  If Acc=0 then jump, else no jump
04 LOD #1
06 STO Z
08 HLT

10 LOD #2
22 STO Z
24 HLT

NOTE that you must have the ‘HLT’ after the first branch (line 08 above) in order to ensure that the computer does NOT continue and execute the subsequent instructions.
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